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@EHEPAI.IHH XOKKESI MOCKBBI :
0<DI/II_II/IAJIbeII/I [TPOTOKOJI MATHA —
Ce3OH 2021/2022 2006 roj poxjaeHHN
OTKpHTOE NEPBEHCTRO . MOCKBH Ilata 14.11.2021 Urpa MNe 52
1L «Pyce» Bpems 16:15 3puTens 60 qeL
"A" Xoxxeft Mockssl /Mocksa/ Bastie BOPOT Vnanenus
Ne OAMHITHSA, UMA (K/A)({TTa| Ur| # | Bpems r I I UC | Ne [MuH Ip Hay. | OxoH.
1 |lixeny Hugura B|Mda] 1 | 00:51 23 7 17 8 2 HIT-AT | 14:59 | 16:53
20 | sxos Mupox B|Ma] 2 | 05:21 17 25 23 +1 28 2 ['PYE 35:45 | 37:45 -
2 | Mopo3os 3axap 3 |Mal 3 | 08:40 17 23 25 +1 10 2 HII-AT | 37:31 | 39:31
4 |THe30K0B ANeKCanap H|la] 4 | 10:29 14 12 25 2 371-CIT | 58:46 | 60:00
7 |Tynunos Aprem H{da] 5 | 29:07 7 1 24
8 |Cronmosckax Heau 3|la] 6 | 32:27 10 26 18
9 | A6gyabspos AMED H|da] 7 | 43:53 11 24 7 +1
10 | OxyHcKi#it AeKcanap H|da| 8 | 53:16 | 12 21
| 11 |Ulep6axos Hean A |H|]la
2 | ®enopos [IMuTpHi H | lla
14 | Hlupoxuit fApocnas H | lla
16 | [lesapyTun Bragumup H | a
17 |Haitpenumes Muxaun H | la
- | 18 |EmemssHenKo ApTeMui H | la
- | 19 | Bomsuryxis Mapcens 3 |Mda
’ I 22; Hemxos Huxonan H | a
- |22 | Bonpos Aprem H | a
‘I{‘ _23 |Mockosckuit Casenuit A |H|la
24 | Jluxaver Anekceft 3 [ Ta
| Toroc6exss Anatonuii K |3 |fa
- fipo H [ fla :
3 [l 7/ 4
RHH AJlEKCAHp, Hssraeiko Cepfli Mopmuce O/f/
.. Bastne BOPOT \ N naneHus _
AMA (K/A)NTI3|Mr| # | Bpems | T 1 1 HC | N |[Musn [p Hau. | Oxon.
i B|Mal 1 [16:53 | 71 | 44 +1 | K | 2 | 9C-CT | 04:44 | 05:21
Blla] 2 | 30:30 9 87 23 2 HIT-AT | 06:52 | 08:40
3 | Jla 28 | 2 | BJIOK | 18:25 | 20:25
3 | HAa 28 | 2 | HI-AT | 26:39 | 28:39
- 3 Na 9 | 2 HOHH‘ 34:25 | 36:25
. £ 3 | Ha — [ 71 [ 2 | TPYE | 35:45 | 37:45
A _|H|lla 77 |_2 | HI-AT | 42:59 | 43:53
H | a T 2 TIOAH | 49: ﬂ 51:53
H | Ia 99 | 2 | NOAOH 4933 51:53
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